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LT-03 : LABORATORY TECHNIQUES IN CHEMISTRY 

Time : 1 hour 	 Maximum Marks : 50 

Note : Answer all questions. 

1. Fill in the blanks with appropriate words chosen 
from those given in the brackets alongside. 
Answer any ten. 	 10x1=10 

(a) Acetic acid used for preservation of pickles is 
found in 	. (vinegar, molasses) 

(b) Rf  value is always 	 than one. 

(more, less) 

(c) Acetone is 	with water. 

(miscible, immiscible) 

(d) Glycerol is a 	liquid. 

(volatile, viscous)  

(e) Chloroform is 	than water. 

(lighter, heavier) 

co Iodine is 	  

(sublimate, non-volatile) 
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(g) Copper sulphate is 	in colour. 
(orange, blue) 

(h) Sodium metal is kept in 	 
(alcohol, kerosene) 

(i) A solution with a pH 12 is 	 
(acidic, alkaline) 

(j) Ether is a 	liquid. 

(inflammable, non-inflammable) 

(k) Amino acids always contain 

	

	 
(nitrogen, sulphur) 

(1) Water hardness is determined by 	 
(argentometry, complexometry) 

(m) Presence of impurities will 	 the 
melting point of a solid. (increase, decrease) 

. Draw a labelled diagram of any one of the 
following : 	 10 

(a) A simple distillation assembly using a water 
condenser. 

(b) A set-up used to determine the melting point 
of any solid. 

3. Answer any five of the following : 	 5x2=10 

(a) How will you clean the following ? 

(i) Ferric oxide stains 

(ii) Grease 
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(b) What do these stand for ? 

(i) EDTA 

(ii) LPG 

(c) Name four sources of heating in a chemistry 
lab. 

(d) Give calculations to prepare 200 cm3  of 
8% NaC1 solution. 

(e) Calculate the amount of NaOH required to 
prepare 100 cm3  of 1 M solution. Molecular 
weight of NaOH is 40 g/mol. 

(f) Calculate the distance travelled by a solute 
on a paper chromatogram when the solvent 
front travelled upto 15 cm and the Rf  value 
was found to be 0.6. 

4. Write short notes on any two of the following : 2x5.10 
(a) Hard water 

(b) Mixed melting point method 

(c) Column chromatography 

5. Answer any four of the following : 	4x2 1 — =10 
2 

(a) An unlabelled bottle contains either tap 

water or distilled water. Suggest a chemical 

method to identify the type of water. 
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(b) How will you prepare the following in lab ? 

(i) Hydrogen sulphide gas 

(ii) Aqua regia 

(c) In paper chromatography, name the 

(i) stationary phase and 

(ii) mobile phase. 

(d) Explain the meaning of the following : 

(i) On a pipette the markings 20°C and 

10 mL. 

(ii) On a centrifuge machine 1000 r.p.m. 

(e) What is meant by the following ? 

(i) GR reagent 

(ii) Column packing 
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(u) 	 wrr 349.1 # ? 

(i) (EDTA) 

(ii) 7F.141.11. (LPG) 

Tr 	4 	N-I 	ucr--*-Tuff 
((-41/1) * TIT f- ti-R I 

200 cm3  8% NaC1 -N-ffzfq -414 * f-@7 NaC1 (q) 
Trp-r 	Trur-IT 

100 cm3  1m -N--d-4-4 	 alTd7z1* 
NaOH 	1RT1T 	iTuRT -*`"fr7R I NaOH 
3493TR 40 g/mol t 

qu% 	C 0-r ff-zr 	1- =r 
Q1A7, 	 aTa -gm T4 

qO 15 cm t 	11f *1 1TR 0.6 WIT TIT I 

4. -Prqr-dflaff 4 	trT 4141-Fr -ftarrur-z6 -Wa-R 

(*) W&T AIM 
	 2x5=10 

(E0 Rug 	-NRT 

(Tr) Ril4 auf-AA'r 

5. fil:;frffRaff -7"-e- Wrf * 3W( 	: 	4x2- 1  =10 
2 
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t 
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(W) 	1R11(11 A aTrq 	(Si dci*t BIZ A4IR 

mZl ? 

(i) 	 .1C•-1-11115 	r 

	11-44f 

(TO chli.N1( 	WZgcfil A, (i) TaixT 5Iic1k-9.11 A 

	sfraRti *RIR fiR I 

N) . 
PHR1 	kid f 31TITZ *rAR : 

(i) 14 	e. tR 20°C A 10 mL 	t I 

(ii) ziq (H4-1) R 1000 r.p.m. 

t I 

igct 	;ITT 31f TT ? 

(i) 11.347. (G.R.) 31111— qF 

(ii) 144 44g (r;h4i) 
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